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{2)

) r (T) 'T{t <"fq' Tffi <{rflq< fiq frqr{ gren qReq, qr6EID{T TTf r 'c

(q) ? cq qfi-?qm reR' Tffi sFFt t c"txrt Tefleg:K qsFT qTfB {fl r

\ | et-iliof-q$tr q.fR eq{ fr cs.m{t ,{(qFil Trtr{rT sil : )+9=8

(q) BTIsrg Erh-wR r'rs[ q'6q 6on-$;rR
qftK FKeq\e
q<6r\ol q& mr+f<t r

*? r (n) "zrgft-q qB{r mfr 1ga
qRE, ofi q'e

tB "ntr fifu oqt,
qrR. qr+ s'rcqFn q< q<t cem t"

(n) rtTcfr. c?< rtT6€ 6ry<

q<frcr qR m< r

Tr$s 'srffr{ qBil 
"1o-+t' fi ft{ h+eqr

(.t) "ft-qq-s'ttq fr" fr{q"- qc{r cqq-TR,
q' 6TK $lx fim, a'v <N csFIFF ffi t"

TR-{ fr-{q< fuQ*K rrqzq Rqzr a-onr rReq, fi=lt r

(q) &FqT 6{s5K Fm q+ qifialls qql tits?r{-{.TN fr=tf r

I
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8 I DT. Os< frqt : ) x9=t9

(+) Csmm "flri-"IRs qm SEg .l(g?f(?<t?t 'T{t <"fq' SR-sfF A'tr orql 6qlifl

?<qr

({) Dv-fffi qtsFFilarFr Elrt Tfrq aat{ TR-q-$rn< qn ft r

(et) qqr{ {tR-sj qilerc- qffiR <tTcfr{+s ft Rc"mcqc< q-{t {Fr ?

c r (n) 'T{@k cfr<tsl' a1q-{ {5tr{ y o<tf\R 6oF{li{ strro u1ts fr"tt r c

qqKl 
.

(q) xo-qcn< qr+ qt{{cqffi ftfi-r-hs c{-Grst"r<t flcf$t qrsT fi ffiq< '|{R
Ersq TRrn., 3FRfrrtt I

s 1 Rqs qrsrr qlGm sqw< fi ft{ csFrT q{ ? FFIF{ ath g'<mq qqvs D[f$
9

q r (+) vffi R crrcll Ff< fiTas u16m firn : \x\=s
:irQ ; qR-{N 6ERrq T+-l ; fiq ; \fl{6ft r

("r) DI. trs< iq"fl : ) xrg=9

(> ) '{<@l' ft vrqm 1T r

(q) 'R-lG' qr6{ ft r

(") 'vqqqE S' qeq n.rc cfl<il Eg ?
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(4 )

p' 1 "Effi K?r6{t D-{mt-qlffira ET(6TI t"

eQ g&T \qtilw 'TFtft€TI:n1' S"r+nw< eft \$rqTu-qt qTsr+oKI 
I

I t (E) ntR. ccn z re'd< R{er D{tT frrn r

(q) sqq fr corcm $K R{e{ u1t+ frrn :

qlfu ; &q-f ctffi; P{rv qll; ur:reRT| I

:o r (n) "ffiK Tctrc{F{ n+ cf+t-€, fi<-r <tb q r"

cfr6{, +.FE qeds ffie r

(?f) "6q6r Cfr cffir 6ffi2"
6s't6{, 3;1-6 'ffi' crffi 1R h+ee r )+>=Q.

)*8=G> > r (n) 'q;q1-q qK'< sry-s {N ft r csvi< DR-qdr Renlq oR cnlscr r

w<R7

(q) 'qlq' flEtg {qK"TI$r wr{Er?{ fiq mc{qrr q(ft\o t<q slE frc*m ER
ffil€$ I 6

)*9=g

\9x\=g

)*)=\

>l r (n) "{E;r{ ensmrqno }R c{rctrcr, sFtT bq. qr< sil "tf\?K $r .q.rd
et',frfi r" q?. irqrF r'T "rfl Sqo r ?grs b-en{ T-fl qcd gt"RR 

Kbt
6TF 6$'n ? 5*)*)=e

(q) cqKT{ q<eaptf&eqc< qu-{t T-{t qsltq sKi-{is6F{-aFK qN ft r

(q) cvtefi qtfi {u;il T-fl q<n go1-a;ryq qN frcn r
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(st

)e r (T) pBta q-s $qqnT{ flcfu-fqTq u1t+ wrc+ru:n n-c' r

ftr

(.t) sar{ fr 6q-6411Rr vninr<< ao frf\ Oqr$q ft$ .

bfit ; qsr€s stflt ; 6s{; qTsH I

>s r (s) qq-{Tq c<w<?F<K 'TIRfuT fr-{-dR DT flRbr ft cocil qFil sqs pFrrx<

"I\qT<< ttq frrtt r

({) <sTfus r{ktqe-r qqqffir q-<rrrc flhF RDte"l fE fi"n gorfl"{w{

{'N ft ? rrcd qFn T-{t Gqilm-fiRqq fivfi efr DT EtcEIF{t \flrt{66-Fil r

5 *8=C

9+9=V

({) pFtx $Kq ft pr ? QlK ?<ftEmTq u1t+ €-rn< n<t r

) 8 I \e-dm fr 6q641 EFK RTe{ u1t+ fr.<n :

(+) pFur*E \flrefi qq 1ffi

(q) ptqa \ryFF qr{s{< ffif$i

(q) C"rflr-{ qielt

(q) R$r+€ q-$R $oralmq c$ft-R-qsr{

>c r (n) {rfur qaTitrFK erc{rw{

s?R{"rqqpRfr"+ r

.FrlETi$.Ft qp qd1-qip6 q-q

\+\=s

9x\=g

Gler ?
\+\+\=s

\x\=8

8
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(x) D1g-s< fril ' 5x8=8

( ) ) c=ffi: $o1-qrH'"{ <D-{ Cfl-{ ?

(q) ?q-<DT qqsqr< <5-{l s-<t e?rq G"rff-ffi qN frqn r

(tl) '<lfr<F{' {lr{ 5lE-'IAr3;l-{ {D?F crl{ ?

( s ) qfB{q rfr-sT {Rlls: aTdfifr-s 6{ qErFK ?
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